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1. Hex Tapa (12 points)

Paint some empty cells black to form a continuous wall. Edak mdicates the lengths
of the consecutive blocks of black cells among the adjaceltd:ceach number represents one
block of black cells, and when there is more than one numherptack cell blocks must be
separated by at least one white cell. The order in which thebmus are given is irrelevant.
Three hexagons sharing a corner cannot all be black.

Answer key: enter the lengths of the consecutive groups ok bklls in the marked rows A
and B (left to right). Enter “0” if there are none.

Example : Solution :
21,11

2. Hex Dominos (13 points)

A domino set consisting of the 28 dominos from 0-0 to 6-6 hanlg@aced into the grid,
without overlapping. The borders of the dominos have beasegl. Reconstruct the missing
borders so that each domino can be found exactly once in dygain.

Answer key: for each cell in marked rows A and B, enter one of 7, "\’ to indicate the
direction of the domino it belongs to (horizontal, diagdgalpwards, diagonally downwards).

Example : Solution :
(0-0 to 2-2) V- A/ 80
A A
B s
3. Hex Skyscrapers (20 points)

Each row and diagonal of the grid contains 4 skyscrapersfi@rdnt heights from 1 to 4.
The numbers outside the grid indicate how many skyscrapergisible from that direction (a
building located behind a taller one in the same row is cotepidnidden).

Answer key: enter the contents of the marked rows A and B. Erftaretnpty cells.

Example : L 5 Solution :

(1to2) \ XX12, 2XXX1

v

w >
&
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4. Hex Tents (20 points)

The grid represents the site of a campground. Each tree rsected to exactly one tent,
found in an adjacent cell. Tents do not touch each other. Tingbers outside the grid reveal
the total number of tents in the corresponding row or diafjdracate the tents.

Answer key: enter the lengths of the consecutive groups dfyerefls in marked rows A
and B. Enter “0” if there are none.

Example : 12 2 1 Solution : 12 2 1
2,31

5. Hex Minesweeper (25 points)

The grid contains 30 mines, at most one per cell. The giverbeusindicate the number of
mines present in the immediately adjacent cells. The catlsclues cannot contain mines.

Answer key: enter the number of mines in each row from top toimot

Example : Solution :
(6 mines) 02121
6. Hex Battleships (35 points)

The fleet shown next to the diagram is hidden in the grid. Eagment of a ship occupies
a single cell. Ships can be oriented along any of the thresetiims of the hexagonal grid, and
they cannot touch each other. The numbers next to the gridatedthe total number of ship
segments that appear in the corresponding direction.

Answer key: enter the length of the longest consecutive gsbempty cells in each hori-
zontal row, from top to bottom.

Example : Solution :
1524642
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7. Hex Star Battle (35 points)

Place stars into the grid so that every highlighted areayewea and every diagonal contains
exactly 2 stars. The stars cannot touch each other.

Answer key: enter the number of empty cells between the twoistaash horizontal row,
from top to bottom.

Solution :
222555141

Example :

8. Hex End View (45 points)

Place letters A,B,C into the diagram, so that each letterrsaexactly once in each row and
each diagonal. The clues outside the diagram indicate stdditer seen from that direction.

Answer key: enter the contents of marked rows A and B; enter éniipty cells.

Example - Solution :
pie - C B B BXXXAC C B B
LY ¥ cC ACBXX
A= Y B
B — A
B —> B
A A
B < B B
7 N
A NRKNKRKA
A A C B
9. Hex Kakuro (55 points)

Place a digit (1-9) into each empty cell of the grid so thainglthe rows and diagonals,
the digits in each consecutive group are all different. Tlnesoutside the grid give the sums
of the digits in the first consecutive group encountered ftioat direction.

Answer key: enter the contents of marked rows A and B. Enter tkédslack cells.

Solution :

Example: 4 69X7

NI 13

11 —>
A:159
B

4 —>

24 —>
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10. Hex Fences (40 points)

Draw a single closed loop by connecting neighboring poildeigthe grid lines. Each
numbered cell indicates how many of its edges are used bydtie |

Answer key: enter the lengths of the consecutive blocks Isf @etlosed by the loop in
marked rows A and B. Enter “0” if there are none.

Example : Solution :
e 3,11

3J
=

11. Tapa Islands (35 points)

Paint some empty cells black to form a continuous sea tharatgs the remaining cells
into islands. The black cells must be connected to each atirvezontally or vertically. No 2x2
square can be completely black.

Each island contains exactly one of the circled clues, whigks its area. The other clues
indicate the lengths of the consecutive blocks of blacksathong the adjacent squares (hori-
zontally, vertically or diagonally): each number reprdsemme block of black cells, and when
there is more than one number in a square, the black cell bloelst be separated by at least
one white cell. The order in which the numbers are given eaxant.

Answer key: enter the lengths of the consecutive groups ok lokals in the marked row A
(left to right), then in the marked column B (top to bottom)idt “0” if there are none.

Example : Solution :
5,12

s
2

[an

®
(@)  |[©)4s
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12. Hitori Fences (40 points)

Black out some of the numbers in the grid so that each row artd@lamn contains only
different digits. Blackened clues must not touch horizdptat vertically, and the remaining
squares must all be connected to each other.

Then, draw a single closed loop by connecting neighboringtedorizontally or vertically.
Each numbered square indicates how many of its four edgessateby the loop.

Answer key: enter the lengths of the consecutive blocks Isf @etlosed by the loop in
marked row A and marked column B. Enter “0” if there are none.

Example : w Solution :
R 22,12
3 1 11

3 ST
SRS
Lt Tyt
S 13 .

13. Battleships and Anglers (60 points)

The grid represents a lake, in which the given battleship fteleidden. Ships are oriented
either horizontally or vertically, and they do not touchleather, not even diagonally. The non-
bold numbers outside the grid indicate how many ship segsr@nin a given row or column.
There are no ship segments in the cells that contain fish.

Anglers are standing around the lake, at each position wiibld number. Each angler
catches one fish. Their fishlines always connect the centeadjacent squares, and do not
intersect. The numbers indicate the number of squaresseddy each fishline. The fishlines
cannot pass through the cells occupied by battleship segmtevery cell of the grid is occupied
by either a battleship segment or a fishline.

Answer key: enter the lengths of the horizontal segmentshiihBs in the marked rows A
and B. Enter “0” if there are none.

Example : Solution :

4 2120 1 111 4 2 120 1
A» 4 Fleet: ! A» 4 : M
gl o| @HD 6 N b
5 ab @b 2. T . T
00
L o 1@ |
B 0 |od B oﬁ L
° : : D | @ [
0
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14. Battleships in the Minefield (60 points)

The 10-ship fleet shown next to the diagram (one 4-cell ship,3-cell ships, three 2-cell
ships, four 1-cell ships) is hidden in the grid. Each segnedrat ship occupies a single cell.
Ships are oriented either horizontally or vertically, aheyt do not touch each other, not even
diagonally. The numbers above and to the left of the griddaidi the total number of ship
segments that appear in the corresponding row or column.

The grid also contains 30 mines, at most one per square. Tits diready present in
the grid, as well as those on the ship segments, indicateuimder of mines present in the
immediately adjacent squares (horizontally, verticaltyl diagonally).

Locate the fleet and the mines, given that the squares corgaandigit cannot contain a
mine nor a ship segment, and that the squares containin@ aeynent cannot contain a mine.

Answer key: enter the number of mines in each row from top oot

Example : (6 ships, 10 mines) Solution : 141310
2 2 4 00 2

: :
3 3 ap ap 3
0 000 0
1 2 1
2 2
15. Snake in the Tents (55 points)

The grid represents the site of a campground. Each tree rsected to exactly one tent,
found in a horizontally or vertically adjacent square. Betid not touch each other, not even
diagonally. The numbers outside the grid reveal the totailver of tents in the corresponding
row or column. A snake, consisting of 72 sequentially nurabemorizontally or vertically
connected squares, is hiding in the campground. Squareberarh (the head), 25, 48 and 72
(the tail) are given. The snake does not loop back or touelf,itsot even diagonally. The snake
passes once through each tent, but it does not pass throygly@are containing a tree. Locate
the tents and the snake.

Answer key: enter the lengths of the horizontal snake segnretite marked row A, then
the lengths of the vertical snake segments in the markedcoRBt Enter “0” if there are none.

Example : Solution :

3 3,5 e

1 1 2 1 1 2 1 1 2 1 1 2
2 (11 2 [ 1E—AT—A
®* L 4 NP P L 4

Al 2 ¢ AW 2 A A

L 4 ¢
1 L ] EA—A @A
’ ’ 21 ’ ’ M
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16. End View Masyu (60 points)

Place letters A,B,C,D into the diagram, so that each lettenrsoexactly once in each row
and column. The clues outside the diagram indicate the éitt&trlseen from that direction.

Then, draw a single closed loop that passes through all tteede The loop must go straight
through the cells containing letters A and B, with a turn ineaist one of the cells immediately
before or after (“white circle”). The loop must make a turraihthe cells containing letters C
and D, but must go straight in both cells immediately befare after (“black circle”).

Answer key: enter the lengths of the horizontal loop segnietite marked row A, then the
lengths of the vertical loop segments in the marked coluntEnBer “0” if there are none.

Example : © Solution : o
¥ ¥
(AC) CreAEee teat CrHEAEee
e ® ® Cl[Clxum ®
® (C) ® L=AL (C
(C/ ® G| @ ®
ARB|® (C) AP || J(C)
(C/ e ® Clhnm QP®
(C/ ® e —® @ ||®
® (C) B'—e e
O] XX CIIIO) O] XX CIIOIO)
17. Star Battle Sudoku (70 points)

Every cell of the grid contains either a digit (from 1 to 7) ostar. Fill in the grid so that
every highlighted area, every row and every column contxastly 2 stars and once each digit
from 1 to 7. The stars cannot touch each other, not even didigon

Answer key: enter the contents of the marked rows A and B. Erfarcells containing stars.

Example : Solution :
(1 star and 1-4) A% 1X234, X4312 A%

B B

wlnv (@ » |
Rlwls N
N s @ w

> @lw ||

[ JESENREAN BN
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18. Pentomino Blackout Dominos (90 points)

A domino set consisting of the 36 dominos from 0-0 to 7-7 hanlygaced into the grid,
without overlapping. The borders of the dominos have beasest, and additional digits have
been written in the unused cells. The unused cells form a Emget of pentominos (as
shown). The pentominos do not touch each other, not everoidlyg. They can be rotated
and reflected. The clues outside the grid indicate how malhy ioethe corresponding row or
column are occupied by the pentominos.

Blacken the pentominos, and reconstruct the missing bostetsat each domino can be
found exactly once in the diagram.

Answer key: for each cell in marked rows A and B, enter '’ if ilopgs to a horizontal
domino, | ' if it belongs to a vertical domino, "X’ if it belongs to a pehino.

Example : (0-0 to 3-3 + tetraminos) Solution: --| X| X|, X] | X- -]

.
AR 2 AR

,

B 2| B

4l I T

; E L J

19. Skyscrapers and Ring Road (115 points)

Each row and column of the grid contains 6 skyscrapers oémifft heights (from 1 to 6).
The numbers outside the grid indicate how many skyscrapergisible from that direction (a
building located behind a taller one in the same row is coteptdidden).

The cells which do not contain a skyscraper are part of a dltmep made of horizontal
and vertical segments linking the centers of adjacent.c&lt& loop passes through every cell
which does not contain a skyscraper, without crossing orapping itself.

Find the loop and the heights of the skyscrapers.

Answer key: enter the contents of the marked rows A and B. Hradauilding heights for
cells containing a building; enter X for cells that are pafttbe loop.

Example : (4 skyscrapers from 1 to 4) Solution : XX12XX43, 413XX2XX

331312 3 4 331312 3 4
1 4 | [4]32]1]4
1 3 1| L L—|1]/3]2]s
A® 3 2 A 3| 2| L= ]a]3]|2
2 1 2| 3|2 141
3 2 3|12 43 | 2
3 4 1 3|2]3| 4|1 — |1
B 1 3 Bp1]41]3] L= |3
2 1 3 213lal2]2]l I3
2 13232 21 2 13232 21
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20. Magnetic Kakuro (115 points)

The grid is made up of magnetic and non-magnetic plates. Beagnetic plate has two
halves: one positive and one negative. Halves with the sgméda cannot touch each other
horizontally or vertically. The numbers to the right of thédgand below it indicate the number

of magnetic halves in that particular row or column.
Then, enter a single digit from 1 to 9 into each magnetic pkdfe so that, in each row

and column, the sums of the numbers (with signs given by fy@arity) in each consecutive
group of magnetic halves are equal to the values given toettef the grid and above it, in
the given order. No digit can be repeated within a single gr@uespective of polarity). The
non-magnetic plates do not contain any digits.

Answer key: enter the contents of row A, then the contentdwineoB. Ignore the signs of
the magnetic half-plates (enter only the digits), and eXéor each non-magnetic half-plate.

Example : i Solution : i
5 6 7XX1, 6X1 5 &
6 3 -1 6 6 3 -1 6
-8 2 2 -8|-9 +5[-6 +2| 2 2
AR 7 -1 11 AR 7 -1[+7 1)1 1
3 2 2 3|-4[+3 -1|+5| 2 2
+ 1.2 0 2 +
2 0 2 1



